O ZERBE (1 2 &)

=n 1cm 50cm 1m = R ° o0 L

e BNE | BATE | B0ME | BARE | BAE | BARE | DCHEBH | R
PRFERF=E 0. 06 0.13 0. 06 0.12 0.06 0. 11| Al £ i 15
AFEREF=E 0.05 0.16 0.05 0.14 0.05 0. 14|f81;& 6
HFERE=E 0.05 0.05 0.05 0.05 0.05 0.05|2TRE—1{E 11
ItFEREF=E 0.05 0.08 0.05 0.08 0.05 0.08|FRELVE 9
S LFEREE 0.05 0. 06 0.05 0.06 0.05 0.06|FEE LVT4th 10
EFEREE 0.07 0.10 0.07 0.09 0.07 0. 09|faI;E 11
AHBZFEREE 0.07 0.14 0.07 0.14 0.07 0. 12[FREWLVE 4
RARHFEREE 0. 06 0.15 0.05 0.12 0.05 0. 10|fAI;&E 11
BEFEREE 0.05 0.16 0.05 0.09 0.05 0.09|FREWLTE 11
FARFEREE 0.09 0.09 0.09 0.09 0.09 0.09|&TRE—1{E 3
TERFEREE 0.07 0.10 0.07 0.09 0.07 0.09|FREWLTE 10
MAFEREE 0. 06 0.10 0.05 0.09 0.05 0.09|FREWLTE 4
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